1

=~1072 =~
fe] - —~
© - =)
o =
= 3
s [ o
o = A
<1 L. © 10
1072
: 107
_9100%_ _9100%
T r : T
04 r : 24
1 . RERLLE e 1
0.95L - :2 . 5—
10° 1 10 0, .1 10™
TP, (PCA t% beamling
—=— DQM_VUUUI_RUU000000I__Global_CMSSW_otig
—— DOM_V0001_R000000001_Global __CMSSW_X_Y_Z_ all7
—— DOM_V0001-R000000001_Global _CMSSW_hpt08
—— DOM_V0001 R000000001 _Global__CMSSW _dt08
-~ —
= €
5] (5]
2 e
~ =
=]
(o]
o [}
o}

T T

o - 1 910\—1%- 1 IRET
3 r : IS r 1
14 [ : 14 [
1177 T pnnee e
0.950'_l 5 (:)2 5 0.950'_1
! ! TPlpT (PCA t]b beamliné‘? 1
n=
2
a
o
o
5
0 10B Tt L
= i HIE
o N
1_—- S

o
= ©
sa
N

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

1



	Contents
	Page 1


